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An	
  den	
  Beispielen	
  HNO3	
  und	
  NO3

-­‐	
  sieht	
  man,	
  dass	
  sich	
  Verbindungen	
  auch	
  in	
  Ionen	
  zerlegen	
  
und	
  anschließend	
  die	
  OZ	
  separat	
  bestimmt	
  werden	
  können.	
  Im	
  Fall	
  des	
  Ammoniumnitrats	
  
(NH4NO3	
  →	
  NH4

+	
  und	
  NO3
-­‐)	
  ist	
  das	
  notwendig,	
  da	
  ansonsten	
  die	
  Beurteilung	
  der	
  

unterschiedlichen	
  OZ	
  der	
  beiden	
  N-­‐Atome	
  nicht	
  möglich	
  wäre.	
  
	
  

	
  
	
  
Der	
  Übersichtlichkeit	
  halber	
  wurde	
  auf	
  die	
  OZ	
  von	
  H	
  (immer	
  +I)	
  und	
  O	
  (immer	
  -­‐II)	
  verzichtet.	
  


